
Modular
Assembly Technology

®

Side Base

;
�
55

90
23

18
39

18
5

8.5

45

25

Description Fastening Set Mass (g)
 (g)

Part No.

Side Base-A (with top thread)
-A  ( ) 2xCR 781 SPS.BA.S

Side Base-B (with top thread)
-B  ( ) 2xHQ 813 SPS.BA.S.ST

M8 Spring Washer  
zinc plated

M8x30 Bolt    
zinc plated    

Fastening SetCR

M8 Spring Washer   
zinc plated

M8 T Nut
nickel plated

M8x30 Bolt  
zinc plated    

Fastening SetHQ

Accessories    

A

B

For fixation of handrail or guardrail on the platform frame.

Material: diecast aluminum  polished finish surface

TFSMGSMASMASS SPS
S-27


